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The Opposite of =——=
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The Reciprocal of= _4
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1)The solution of | X | = p is equivalent to
X=porX=-p.

2) The equation | X | =0 is equivalent to X =0.
3) The equation | X | = —p has no solution, X =
4) | X |>pisequivalentto X>PorX<-p.

5) | X |2 pis equivalentto X=PorX<—p.

6) | X |<pisequivalenttoX<PorX>-p.

7) | X |[<pisequivalentto X<PorX=—p.

Solve Inequalities Equation(<liliall Cialza Ja)

1,2,3,45,6,7,8,9,.........

Natural Numbers

Whole Numbers

Integers

11-5 Rational Numbers
2'3" 47777
y -y 058 Slope
2 1
X7 X1

(@a+b)*=a*+2ab +b?
(a—b)*=a*—2ab +b?
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Constant such as 2,4.1, 9/7 : <G
Variable such as x,a, n Do
Evaluate, calculate, Find , Perform D) ¢l
Expression : dualy ) dana ol
Equation : 42 <Inequality : 4ulia
System of equations : Sl (ysilabaa (4 aldas
Value : %d | Point: 4kii | Number line : dac¥! ks

Natural Numbers : Zxphll dacY) | Integers: dagsaall dlacy)

Substitute : o=se , Simplify : lwa |, Factor: Jelsall ) s



